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BASIC CONCEPTS

) MARKET INTERVENTION

1 ‘ELASTICITY OF DEMAND
& SUPPLY

PRODUCTION

/~ MARKET STRUCTURE
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Scarcity means that resources are limited in supply relative to
unlimited human wants at any given time.

If a good is scare, more of it is preferred, meaning that at a zero
price, the quantity demanded is greater than the quantity supplied.
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At a zero price, the quantity supplied is greater
than the quantity demanded, implying that
human wants do exist in which some of itis
preferred to none of it, but nobody wants to
have more of it.
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At a zero price, the quantity demanded is
greater than the quantity supplied, implying
that more of it is preferred to less of it, thus
generating a problem of distribution. It can be
resolved by price or non-price competition.
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to Deal with the Problem of Scarcity
Owing to the presence of the problem of scarcity, methods of
allocating resources, for example, choice, price or non-price
competition, are inevitable. Hence scarcity implies the existence
of competition, choices and opportunity cost.
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Opportunity cost is defined as the highest-valued option forgone.
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‘1 Whenever there is no choice, |

| thereis no cost.
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V7 lllustration 2. ik —.

Whenever there is a choice,
there is a cost.
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> Nustration 3 ik

Whenever there are alternative
options, highest-valued option . | —
forgone will be the opportunity o ‘, SFHARE L RE
cost. Y-
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Whenever there is no scarcity, there is no cost of doing anything

because all human wants have been satisfied without losing any
alternatives.
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" Illustration 1: Change in Value
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Cost will not change, unless there is a change in the highest-valued option
forgone.
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\,Aﬁhen option A is chosen, the highest-valued option forgone is option B.

The increase in bads of option A ONLY leads to a decrease in its value, but
it does NOT affect the highest-valued option forgone (option B). As opportunity
cost remains unchanged, choice does not change, too.
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//Illustratlon 27 Change in Cost (Highest- valued optuon forgone) |
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| Theincrease in goods of option B leads to an increase in its value (13), thus
| affecting the original highest-valued option forgone. Although the value of
the option A (10) does not change, the opportunity cost (13) of choosing
option A increases.

Therefore we choose option B (13) as it is the most preferred option (the
| highest-valued option).
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4 A e e
- Watching a movie | Singing in karaoke '{Iﬂ)o"i'ﬁﬁ a part-time job |
Option E+E ' f

$40 ‘ $0 ‘

v

‘ 2 s BFHEY Ig-FHIO0K B RER
| RN o 0 60
Fee 2&F | $50

When | choose to watch movie,
the highest-valued option
forgone is option B.

2Rt BEEay, HNEND
| —REEFIEB, IBFHOK.

SERMRARME
B ZER$50.

Conclusion:
Full cost = Money cost + Highest-
valued option forgone
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In economics, goods can be classified by two criteria:

ELFF L, MRTREHHAENS%:

If a good is an economic good, its quantity demanded is greater
than its quantity supplied at a zero price, implying that more of it
is preferred to less of it. In addition, it involves the use of scarce
resources to produce.
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If a good is a free good, its quantity supplied is greater than its
quantity demanded at a zero price, but human wants do exist,
implying that some of it is preferred to none of it. Moreover, it
does not involve the use of scarce resources to produce.
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Situation 1 : Oxygen is a free good

BR—: ESREREYS

Under the normal case, at a zero
price, the supply of oxygen is so

sufficient that its quantity supplied -
is greater than its quantity .
demanded. Hence no prices arise -

and oxygen is classified as a free
good.
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Situation 2 : Oxygen is an Economic good

B EKSREFUH

greatly declines to a level that at
a zero price, quantity demanded
is greater than quantity supplied.
' | Hence, prices arise and oxygen
_‘»' is classified as an economic

N good. @B‘I
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